Gr2 U5 L7 S1


Names __________________________, ______________________________  Date: ___________________       

A. Find an equivalent problem.  Then add.



Sample problem: 56 + 38 = 
      56 + 40 – 2 = 96 – 2 = 94

1.       347 + 19 =
      347 + 20 − _______ = 

2.       153 + 148 = 
      153 +  150 −  _______ =

3.      335 + 259 = 
     335 + 260 − _______ =

B. Add.  Choose your strategy.  Show your thinking.

4.
     187 + 69 




5.     423 + 198

6.     674 + 208




7.     355 + 239
Challenge problem: Add 128 + 133 + 79.  Show your thinking.

